> A
A & 0l & AF 2 E A A
A= SXAL= M ARSI =X
M J|ZMEBE
S MASHSMtE LSS (&)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
sNHL= 1,419,780,358 1,184,775,103 235,005,255
= 1,121,170,907
Xl 14,044,375
J| 52,808,702
< 231,756,374
A2l = X2t 340,270,973 353,614,750 A13,343,777
= 235,504,981
Xl 12,150,995
< 92,614,997
IZMEEH 248,182,875 262,952,825 A 14,769,950
= 228,659,768
< 19,523,107
HASHESAS tE L &= 248,182,875 262,952,825 A 14,769,950
= 228,659,768
< 19,523,107
IRASHSEH3XA 192,372 147,372 45,000
307 21201 A 120,000 120,000 0
11T MISXASEX 120,000 120,000 0
OZAZEEMI2AHIXR 120,000
308 XX EHHSOIA 72,372 27,372 45,000
01 HXNHHNBHEELS 72,372 27,372 45,000
TC O HH K2 (400 A) 18,372
OJIZFCWIARFHI XA (18 L) 54,000
SIS EESHIR (A 183,593,117 195,332,400 A 11,739,283
= 170,912,051
< 12,681,066
308 XX EHHSOIA 183,593,117 195,332,400 A 11,739,283
= 170,912,051
< 12,681,066
01 XML EES 183,593,117 195,332,400 A 11,739,283
O3 =MEBXHS0(MASO) 183,593,117
= 170,912,051
< 12,681,066
S ZMESBEAZHIR(LS) 6,289,720 6,265,088 24,632
= 5,861,000
< 428,720
308 MHXIEHMSOIH 6,289,720 6,265,088 24,632
= 5,861,000
= 428,720
01 HXNHHNBHEELS 6,289,720 6,265,088 24,632
O2N =430 (Rs20) 6,289,720
= 5,861,000
< 428,720
20| = MBS EZ 0 X2 (o AHE ) 1,779,885 1,946,625 A 166,740




AR 2X2AHL=2 2M @ Al =X
MY | ZMEPH
H2: MASHSAMIELES (2 &HH)
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 7,655,000
= 124,885
308 XHXIEH SO0l A 1,779,885 1,946,625 A 166,740
= 1,655,000
= 124,885
01 AIKSHHEMNEX= 1,779,885 1,946,625 A 166,740
20| =MEZ (D HZ20) 1,779,885
= 1,655,000
& 124,885
222X XS AL 5,052,500 2,798,802 2,253,698
= 4,700,000
=} 352,500
308 MXISHMSOIA 5,052,500 2,798,802 2,253,698
= 4,700,000
& 352,500
01 IXHHIMNEEXTZ 5,052,500 2,798,802 2,253,698
222X XS AS 5,052,500
2 4,700,000
& 352,500
HEAZEOIXA 6,690,400 7,320,000 A 629,600
= 6,589,000
o= 101,400
308 XXIEHSOIA 6,690,400 7,320,000 A 629,600
2 6,589,000
o= 101,400
01 AIXSHMENMNEX= 6,690,400 7,320,000 A 629,600
O A=l X 6,690,400
= 6,589,000
& 101,400
S At 22l ALK& 1,296,750 1,259,336 37,414
= 997,500
= 299,250
308 XHXIGH SO0l & 1,296,750 1,259,336 37,414
= 997,500
= 299,250
01 AIKSHHENEXZ 1,296,750 1,259,336 37,414
COS& At 2t el AR & 1,296,750
= 997,500
& 299,250
22 A8 S X & A H W& 7,968,647 9,181,311 N1,212,664
= 7,033,218
o= 935,429
308 MXISHMSOIA 7,968,647 9,181,311 N1,212,664
= 7,033,218
=} 935,429
01 AIXSHMENEXZ 7,968,647 9,181,311 N1,212,664




A= SXAL= M A= X
Hu: I ZMBEE
O HASHEMSGHY S (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
At 2t el At X & 224,250
2 172,500
< 51,750
OXEESXNELHAMNE KNI (A S X Z 1A
1) 3,774,225
=2 3,344,250
= 429,975
OHES0HMAMES X (AZI SR A1) 2,251,500
= 1,995,000
< 256,500
OsesoaExaExR 1,531,816
= 1,334,612
< 197,204
O AN E A AL 146,856
= 146,856
O d3AEAE(BS=2E) 40,000
= 40,000
NEZZ ALY 21,877,800 25,346,400 A 3,468,600
= 20,836,000
=) 1,041,800
308 XHXI &M S0l 21,877,800 25,346,400 3,468,600
= 20,836,000
=) 1,041,800
01 AXHHILEES 21,877,800 25,346,400 A 3,468,600
OXNEIZAY 21,877,800
= 20,836,000
< 1,041,800
HeEEAS A 777,800 1,307,100 A 529,300
= 722,000
< 55,800
308 MXIEHMSOIH 777,800 1,307,100 A 529,300
= 722,000
< 55,800
01 HXNHHBHELS 777,800 1,307,100 A 529,300
O dsa X2 777,800
= 722,000
< 55,800
N H 2 K& 3,578,621 3,646,277 AB7,656
= 3,170,930
S 407,691
308 XX EHSOIA 3,578,621 3,646,277 AB7,656
= 3,170,930
< 407,691
01 HIXNHHNBMNEES 3,578,621 3,646,277 AB7,656
OXSXNEMEH2SH XA 3,578,621
= 3,170,930
< 407,691




M AEI =S X

- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
KHEPAFS & O AFXHESHOFE 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
11 A EXAIEEX 20,000 20,000 0
OXHEAIE 2O XFAHE SHOFE 20,000
KHE AR 2t el ALY 142,200 137,576 4,624
= 126,000
& 16,200
308 XHXIGHH SO0l & 142,200 137,576 4,624
= 126,000
& 16,200
01 AIKSHHEMNEXZ 142,200 137,576 4,624
OO XFE AR 22 142,200
= 126,000
o= 16,200
SIAIINSEH(II=E) 2,262,000 3,307,300 A 1,045,300
= 2,103,000
=} 159,000
308 MXISHMSOIA 2,262,000 3,307,300 A 1,045,300
= 2,103,000
= 159,000
01 XHHIMNEEXTZ 2,262,000 3,307,300 N 1,045,300
OsYIISESH(II=x) 2,262,000
= 2,103,000
& 159,000
SIUAINSSEH(IHAA) 2,375,000 480,000 1,895,000
= 1,900,000
& 475,000
307 2Iz2t0| A 2,375,000 480,000 1,895,000
= 1,900,000
o= 475,000
10 M SXNANEHESIGHEX 2,375,000 480,000 1,895,000
DS SEEH (L) 2,375,000
= 1,900,000
& 475,000
NAXNEHHESAIA S 44 352 44 352 0
308 XHXIGHH SO0l & 44 352 44 352 0
01 AIKISHHENMNEXZ 44 352 44 352 0
OXDNEHEHSANESE 44 /352
O&eAx¢ 100,000 1322 1200 & «20/100 31,680
O 40,000 132 1201 & 20/ 100 12,672
Mg H2AHX R 23,100 29,400 A6,300
308 MXISHHSOIA 23,100 29,400 A6,300
01 IXHHNIMNEXS 23,100 29,400 6,300




AR 2X2AHL=2 2M @ Al =X
MY | ZMEPH
Sl HASHBSAMQHYSS CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
O&EelAMgeH2I XS 23,100
ANEEHTAIS U X & 90,000 90,000 0
308 XHXIGH SO0l & 90,000 90,000 0
01 AIKISHHENEXZ 90,000 90,000 0
XSS A H K& 90,000
s|ael2 ALY 330,300 1,118,000 AT787,700
= 264,240
= 66,060
307 QI2t0| & 330,300 1,118,000 AT787,700
= 264,240
=} 66,060
11 Al EXAIEEX 330,300 1,118,000 AT787,700
Os|ate| 2 At 330,300
= 264,240
& 66,060
L=0=2XANE2Y 1,969,153 1,895,934 73,219
= 1,378,407
& 590,746
308 AMXIEHMSOIA 1,969, 153 1,895,934 73,219
= 1,378,407
o 590,746
01 AIXSHMEMNEX= 1,969, 153 1,895,934 73,219
C=0=2IAd2d 1,969,153
= 1,378,407
= 590,746
L=0=2TAd)IsE2d 49,901 62,205 N 12,304
= 38,385
= 11,516
403 XX SHHS K20| & 49,901 62,205 N 12,304
= 38,385
& 11,516
01 XIS A=2E X 49,901 62,205 N 12,304
C=00=2XAE)IsEZAY 49,901
= 38,385
& 11,516
L =02 X AA AKX E| 3,240 3,240 0
308 XX SHHSOIH 3,240 3,240 0]
01 AIXSHMENEXZ 3,240 3,240 0
OL=0EXAELAaXAtEXNH 3,240
IZNMEESMNESSRIAATS 5,000 5,000 0
201 Bt 5,000 5,000 0
03 A2 EH| 5,000 5,000 0
D=8 YSR2J_AATS 5,000
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Off &t 24

=

i
2m

o

468,430

327,901
140,529

U]

AXNSSELHSIMSIE

30,000

30,000

307 glztol &

30,000

30,000

1A SXAIE E =

D2 NS4t AE

30,000
30,000

30,000

{on

LI SSE (R ) At 22 2]

Mo

64,480

45,136
19,344

64,480

307 glztol &

A

64,480

45,136
19,344

64,480

>
o
J
>
>

H
A

O
{ol
02
E
i)
om e
0z
=
0z
d0
>
[
s}
[
Mo
02
[=s

o

64,480
64,480

45,136
19,344

64,480

KNS AE S X MBI A2 S

o= 1

23,
,845,213
,430,995
,409,640

685,848

21,805,

831

1,880,017

NSAASXAMS =

o= 1

,685,848
,845,213
,430,995
,409,640

21,805,

831

1,880,017

N NEEAMANBIAETAL

X

H

.

1,176,990

,982,550
, 194,440

9,800,

534

1,376,456

307 21201 &

Xl

H

240,000

168,000
72,000

,000

30,000

AR S XA E X

OXNAAMSMBIAXEH2SE (XS EHI)

Xl

H

240,000
240,000

168,000
72,000

,000

30,000

308 NHXIEHMSOIE

Xl

H

,936,990

,814,550
. 122,440

9,590,

534

1,346,456

01 HXSHHB&EE
A

XS A3 A I

Xl

H

,936,990

,936,990

,814,550
, 122,440

9,590,

534

1,346,456

LA E E 201 AHY

Xl

t

—_

586,363
441,445

144,918

1,475,

589

110,774




A= SXAL= M A= X
M NS A =X ML 3
Sl KIGASISRAY =T (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 1,586,363 1,475,589 110,774
X 1,441,445
< 144,918
01 HIXNHHBHNEELES 1,586,363 1,475,589 110,774
OJAM2AE ER0IAMSE (KNS EHI) 1,586,363
Xl 1,441,445
< 144,918
FHEZAI=ERNZSSE2332ERE 70,000 70,000 0
307 glz2+ol & 70,000 70,000 0
10 ALSISXAIEEE2EHEX 70,000 70,000 0
D3 Md=NESs2sd=2EXNE 70,000
M EXNH 2L 23t 30,000 30,000 0
201 et 10,000 10,000 0
03 #AL2ZHI 10,000 10,000 0
OAM=XNEE2d2Z5 10,000
308 X EHSOIA 20,000 20,000 0
01 HIXNHMBMNEELS 20,000 20,000 0
OOAS S X QI A g2t 5t 20,000
MBIEXNANEZEANAE NS 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
11T MISXASEX 10,000 10,000 0
OMIISXANEEEANAEHDS 10,000
FAURAANLISEZ 36,465 334,547 A 298,082
= 28,050
< 8,415
403 XSS X201 & 36,465 334,547 A 298,082
= 28,050
< 8,415
01 XXM 22 = 36,465 334,547 A298,082
OFNQLAANEI)SEZL 36,465
= 28,050
< 8,415
MEISXANESAMAEZ WS 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
11T M SXAISE EX 80,000 80,000 0
OMBISXTANESANEENSF 80,000
ZAEZAS=ERNEAS 2SN 170,000 170,000 0
307 glz2tol & 170,000 170,000 0
10 AL SXAIEEE2EH EX 170,000 170,000 0
OZa=Sz A SAgds 29X 170,000




M ox
40 5 4

D EXAE= M AEI =S X
D NG ASI =S X AME A Z
D NGAS S XA =&

st

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
A2l S X2l & &AL 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
11T AS S RAEE = 30,000 30,000 0
CTALSI S X2 & el A 30,000
BE XA AE =R ALA &3 60,000 30,000 30,000
307 glz2tol & 60,000 30,000 30,000
11T M SXAISE EX 60,000 30,000 30,000
OZ=S XS AL S XA &S 30,000
OZSXNSAMSAMEF=NF 30,000
AN EXNEEHEH2Y 150,000 150,000 0
307 2201 A 150,000 150,000 0
11 ALS S XALEE = 150,000 150,000 0
OAMIEXNEHELMEH2SE 150,000
ZHEZASSEANAIEAEHEZ S 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
11T MISXASEEX 50,000 50,000 0
OZa4SZ A SEXNUE 2 50,000
ZES0ISMIXR 35,000 35,000 0
307 21201 A 5,000 5,000 0
11T MISAASEX 5,000 5,000 0
ODZE20zsSAE2S 5,000
308 XX EHHSOIA 30,000 30,000 0
01 HXNHHNBHELS 30,000 30,000 0
Z20SMEXR 30,000
HAZEHMUAAENSUS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M ZXAISE EX 10,000 10,000 0
OIS ZNIAEHSUHSE 10,000
A2l S X2t E ALRHAIO]LE 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
11T MISXASER 15,000 15,000 0
LIAR2l = X 2 S AFXFAILO] L 15,000
M3 SXAELARMEZXH 214,494 296,840 A 82,346
301 et A3 214,494 296,840 A 82,346
01 AR 2Z A5 3 214,494 296,840 A 82,346
OAMA=SXNANELLATHEE S 214,494
SAUQLAANE L AR AZ XS 20,846 20,846 0




M ox
40 5 4

D EXAE= M AEI =S X

S A AME S ITAE A
D AG AR SR AL =&

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
308 XHXIEHSO|A 20,846 20,846 0
01 AIXSHMENMNEX= 20,846 20,846 0
OHAMNQQUAAELAXNYABAH
1,0699 »65, 000 30/ 100 20,846
ASISXAIE S ARG 123,648 118,608 5,040
308 XX SHHSOIH 123,648 118,608 5,040
01 AIXSHMENMNEXZ 123,648 118,608 5,040
O&ASE 100,000 x3862 =128 x20/ 100 92,640
OX2A2=¢ 40,000 *323Y x12& %20/ 100 31,008
AL S X2 E ALY 86,400 81,000 5,400
308 MXISHMSOIA 86,400 81,000 5,400
01 IXHHIMNEXS 86,400 81,000 5,400
OAISI S X2 ESHAS
18,000, 000 1691 A *30/ 100 86,400
HAQUANLE2AH 7,676,162 6,284,180 1,391,982
= 6,801,663
= 874,499
308 XXIGHHM SO0l & 7,676,162 6,284,180 1,391,982
= 6,801,663
& 874,499
01 XHHIMNEXZ 7,676,162 6,284,180 1,391,982
OHAMAANEZH 7,676,162
= 6,801,663
& 874,499
FoPt=sASEESAMHEH2S 10,000 10,000 0
307 212t0| ™ 10,000 10,000 0
11T A EXAIEEX 10,000 10,000 0
OR0OIII=sSASEESAH2S 10,000
A2 NH2I(&H) 1,400,000 1,800,000 A 400,000
306 232 1,400,000 1,800,000 A 400,000
0132 1,400,000 1,800,000 A 400,000
OdsHeHd 1,400,000
AEENN=E=0I=s=e=2Y 8,000 8,000 0
201 gEt24H | 8,000 8,000 0
01 AP 22| d| 8,000 8,000 0
OYxs 8,000
OFs=XN=s00IsE AR 8,000
AS S X CTL IS E S ALA & 20,000 0 20,000
308 XAHXIEHSOIA 20,000 0 20,000
01 AIXSHMEMNEX= 20,000 0 20,000




M ox
40 5 4

D EXAE= M AEI =S X

D ANEAMSIEX AL A
D NGAS S XA =&

st

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OAISE XL IS &l 2l ALK& 20,000
AMSEXNFTEHNLRE2ESRI A A 2,000 2,000 0
303 ZA 2 2,000 2,000 0
01 LAZ 2,000 2,000 0
OAMS=EXNFTENRE2SFAIA 2,000
HE L 20/&24d3H XS 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
11 Al EXAIEEX 30,000 30,000 0
Odsuzs0gds X 30,000
KNBASAMHEBAETAIEE2H 10,000 40,000 A 30,000
N 7,000
== 3,000
201 Bt 10,000 40,000 A 30,000
Xl 7,000
o= 3,000
01 AP 22| H| 10,000 10,000 0
Ogsts2y| 10,000
OXNYAISMEIAENANS BSOS (NES
gl ) 10,000
N 7,000
= 3,000
NEAMISANEAN2IE XS 97,000 138,000 A 41,000
308 XHXIGHHI S0l & 97,000 138,000 A 41,000
01 AIKISHHEMNEXZ 97,000 138,000 A 41,000
OXNGAM=EXREANSI XA 97,000
NEAMSSANEAMX AN XA 25,000 14,000 11,000
= 15,500
= 9,500
308 MXISHMSOIA 25,000 14,000 11,000
= 15,500
& 9,500
01 HXHHIMNEXTS 25,000 14,000 11,000
OXSGASEXNEAMANEU X 25,000
= 15,500
&< 9,500
ASI S XA E A KXHA & 12,862 12,862 0
308 AHXIEHSOIA 12,862 12,862 0
01 AIXSHMEMNEX= 12,862 12,862 0
OAISI S X AIE A XA 2 HE &
15,000 1,429 «30/100 6,431
OAISIE X AIE L AXEAH|
15,000 *1,4292 «30/100 6,431




M ox
40 5 4

D ESXAHE=
NS ANE S XA A
D NEAMSSKAMEF=

M AEI =S X

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

KN SAASI S XA =& 87,618 332,825 N 245,207

101 @14 Hl 6,118 0 6,118

04 JIZHHZ2XNEE S 6,118 0 6,118
Oy 6,118
OJdles 44,6403 +1H+1102 4,911
OFs=% 44 6403 «1H x222 983
(OF=PxE3=; 44 6403 x1H x5 224

201 Let24d] 27,000 184,325 A 157,325

01 AP 2teltl 27,000 184,325 A 157,325
Ogpt=2Hl 9,930
OXNI M SRAMGE =& LB ==2H] 9,930
O2ds¢ 17,070
OMIEXNANEE =L LMY 11,070
OXNgM =X AZ =S X0 6,000

202 04l 21,000 25,000 A4,000

01 = LH 4 Hi 21,000 25,000 A4,000
OXNEMI=XNS =0 21,000

203 YR =&t 13,500 13,500 0

03 A F=XH R =AY 13,500 13,500 0
OXNGAMI=EXNRHMASELRFL 13,500

207 A RO H] 20,000 80,000 260,000

01 2739l 20,000 80,000 A 60,000
OXSASAM=SXNAIEH =8 20,000

AEHESANEANLAE S 22| 330,000 0 330,000

207 & 51 OH & Hl 300,000 0 300,000

02 & AR I 300,000 0 300,000
OZSHISANEAAE D E S 300,000

307 glz2+ol & 30,000 0 30,000

11T M Z2XAS EX 30,000 0 30,000
OZSsdENANASE2AL2Y 30,000

NSAASIHEIAHRFA 22,000 0 22,000

201 Let24E] 14,000 0 14,000

01 At 22l 14,000 0 14,000
Opt=2Hl 14,000
OX YA MBI AR BHZH| 14,000

202 044l 8,000 0 8,000

01 = LH o4 1l 8,000 0 8,000
OXS A2 MEIAH R =0 8,000




SXAL= M A= X
ERPEHY
EENEIISES CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
EEHY 10,242,400 7,881,800 2,360,600
Xl 720,000
< 9,522,400
SEELANLFA 10,242,400 7,881,800 2,360,600
X 720,000
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307 2Iz2to| A 150,000 0 150,000
11T AISIEXAIEEX 150,000 0 150,000
(OQAESAISEXNIAAG 150,000
SAFAIE & X 6,290,032 10,790,925 A 4,500,893
= 220,000
& 6,070,032
SIEAEE XA 6,290,032 10,790,925 A 4,500,893
= 220,000
== 6,070,032
403 XX SHHS K20 & 6,290,032 10,790,925 A 4,500,893
= 220,000
== 6,070,032
01 MXHAMAEBE = 6,290,032 10,790,925 A 4,500,893
O3t Al A X ALY 6,290,032
= 220,000




SXAL= M eE=R1
COINHUEASE
S AMAEEX (&)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
| < 6,070,032
ANESXSH 39,806,010 51,802,440 A 11,996,430
= 10,015,711
< 29,790,299
COIHIINE2EE TR 12,658,550 8,820,508 3,838,042
= 3,879,625
< 8,778,925
LolwAazd 100,800 99,000 1,800
308 XX EHH SOl A 100,800 99,000 1,800
01 HXNHHBHELS 100,800 99,000 1,800
OLoluazyg 100,800
22X 2,227,000 2,214,000 13,000
308 XXM S0 A 2,227,000 2,214,000 13,000
01 AXNSGHBLEES 2,227,000 2,214,000 13,000
O3 EEAZYI 1,210,000
D322 X 975,000
O3 AY 42,000
LolEstasXd 129,100 132,400 A 3,300
307 g1+l & 55,000 55,000 0
11 AISI S XA E = 55,000 55,000 0
CJYOYOZ &t Ml H = 55,000
308 XtXIEHH SOl A 74,100 77,400 A 3,300
01 X HHILEES 74,100 77,400 A 3,300
ayovosdo=sed 27,300
OyovoS2g 48tk 46,800
ZR2ESEIIHYH X 9,695,400 5,873,858 3,821,542
= 3,729,000
< 5,966,400
308 XXIEtH S0l A 9,695,400 5,873,858 3,821,542
= 3,729,000
< 5,966,400
01 IXNHHBAMNEES 9,695,400 5,873,858 3,821,542
OZ2EsZIIdHB X 7,488,000
= 2,880,000
< 4,608,000
O3 L IHIX2 1,708,200
= 657,000
< 1,051,200
OD3gHLd X2 499,200
= 192,000
< 307,200
F2YZANJANEHZY 301,250 301,250 0




- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 150,625
=) 150,625
307 glz2tol & 301,250 301,250 0
= 150,625
=) 150,625
10 ALl SXAIEEE 2 H EX 301,250 301,250 0
OZ2EZAXNJALUE2EH X 301,250
= 150,625
< 150,625
2243 sENE 200,000 200,000 0
308 XtXIEHH SOl A 200,000 200,000 0
01 AXHHIYEES 200,000 200,000 0
OD3zgeds=3NE 200,000
Lo=E22ERE 5,000 0 5,000
307 21201 A 5,000 0 5,000
11T A SXAIEE = 5,000 0 5,000
OelsX2aA2AHNA IS 5,000
LoETANEEE 2,645,125 4,749,310 A2,104,185
= 1,553,173
=) 1,091,952
F2EHE S 326,000 0 326,000
403 UHXSHHSA=0l& 326,000 0 326,000
01 XM A= XL 326,000 0 326,000
OZ2 U S=AY 326,000
CoSRA2AELMNE S 300,000 250,000 50,000
403 MtXISHH S =0l & 300,000 250,000 50,000
01 AXISHHA2E = 300,000 250,000 50,000
O =sX2Hg 300,000
COo=RAEIISsELAY 2,019,125 4,499,310 A 2,480,185
= 1,553,173
< 465,952
403 XIS E X201 E 2,019,125 4,499,310 A 2,480,185
= 1,553,173
< 465,952
01 XXM A2E = 2,019,125 4,499,310 A2,480,185
O =XNAIE)IsEZAY 2,019,125
= 1,553,173
=) 465,952
LO=ETANER2Y 24,502,335 38,232,622 A 13,730,287
= 4,582,913
< 19,919,422
CO=SRAEL AT A 60,311 86,000 A 25,689
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N 25,689
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149,688
149,688

N 16,434,623
A 16,587,311
A 16,587,311

2,726,503
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2,726,503

12,127
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A1,073
21,073

H3r
Wikd
RIS

86,000
86,000
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35,400,954

35,400,954

2,177,143

2,177,143

2,177,143

34,325
4,100
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10,725
10,725

Off &t 24

60,311
60,311
10,511
49,800

19,006,331
43,000
43,000
25,000
18,000

18,813,643

18,813,643
15,562

726,392
18,071,689
149,688
149,688
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4,903,646
4,344,997
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40 5 4

2. RA - EH B (S) - HEAY - B il 2
203 YR =&l 4,500 4,500 0
03 Al F=XH R =AH| 4,500 4,500 0
OLoAaTEye =T 4,500
307 glz2tol & 15,000 15,000 0
11T MISRASEX 15,000 15,000 0
O =EXNAE T3S AALS 15,000
AEAIAEISARNE(EX) 209,200 209, 200 0
= 209,200
308 XX EHHSOIA 209,200 209,200 0
= 209,200
01 HXNHHBHELS 209,200 209,200 0
OZ=HIAgel el X2 209,200
= 209,200
MIOt=CI=XANE2E 239,064 235,000 4,064
307 glz2tol & 45,000 45,000 0
11T M SXAISE EX 45,000 45,000 0
OMItC I =SXNAENA NS 15,000
Ot B ESES SO AL 30,000
308 MXIEHMSOIH 194,064 190,000 4,064
01 HXNHHBHELS 194,064 190,000 4,064
O =2XNAE2SH 194,064
MOUHEI LI 22H 37,331 0 37,331
= 28,716
< 8,615
308 XX EHHSOIA 37,331 0 37,331
= 28,716
< 8,615
01 HIXNHHNBNEES 37,331 0 37,331
OO 220 28X S ALS] X HAMY KT & 37,331
= 28,716
< 8,615
2g(Loa=X ) 53,279 49,614 3,665
= 9,888
< 43,391
A2l 25,128 20,859 4,269
= 9,888
< 15,240
lA2HHI(BX) 25,128 20,859 4,269
= 9,888
= 15,240
101 @124 dl 25,128 20,859 4,269
= 9,888
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= o
A & 0l & AF 2 E A A
AR =xA2R SN FHSTD
Hu: MOjQI=EREX
Chelr ROjQI MO X & CER-ED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
ZOH QI = X 0t 156,945,557 131,195,288 25,750,269
= 125,266,515
J| 2,000,000
= 29,679,042
Zoe=Exsd 156,858,557 131,195,288 25,663,269
= 125,266,515
J| 2,000,000
< 29,592,042
ZOH SOt E X R 92,071,169 83,781,831 8,289,338
= 81,697,092
< 10,374,077
ZOHAUAS KA 47,485,720 42,997,787 4,487,933
= 43,057,000
< 4,428,720
308 XtXIEHH SOl A 47,485,720 42,997,787 4,487,933
= 43,057,000
< 4,428,720
01 X HHILEES 47,485,720 42,997,787 4,487,933
O AS K& 47,485,720
= 43,057,000
= 4,428,720
Zo=gXE (=) 6,191,745 4,812,229 1,379,516
= 5,486,356
< 705,389
308 A EHHSOIA 6,191,745 4,812,229 1,379,516
= 5,486,356
< 705,389
01 HXNHHNBHNEELS 6,191,745 4,812,229 1,379,516
Oz X& (=) 6,191,745
= 5,486,356
< 705,389
TR (HaR) 5,540,422 4,762,571 777,851
= 4,909,235
< 631,187
308 XXM SOIA 5,540,422 4,762,571 777,851
= 4,909,235
< 631,187
01 AXHHBYEES 5,540,422 4,762,571 777,851
O XA (X&) 5,540,422
= 4,909,235
< 631,187
ZOHeIel Z HI XA 1,988,750 2,156,450 A 167,700
= 1,850,000
< 138,750
308 MtXIEHSOIH 1,988,750 2,156,450 A 167,700
= 1,850,000




M ox
40 5 4

SxAL= SA B
oI =X E
ZojolME ™A

oy

68,400

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t

< 138,750

01 IXNHHBNEES 1,988,750 2,156,450 A 167,700
COJFOQI 2 = HI A& 1,988,750
= 1,850,000
< 138,750

ZOH QI RHA SHHI I & 40,850 ,000 A2,150
2 38,000
= 2,850

308 XX EHHSOIA 40,850 ,000 A 2,150
= 38,000
< 2,850

01 X HHILEXS 40,850 ,000 22,150
IS4 RIDNIER= TN 40,850
= 38,000
= 2,850

O EXRDI| P LR 91,989 ,875 A 20,886
= 85,571
< 6,418

308 AHXIEHHSOIA 91,989 ,875 A 20,886
= 85,571
< 6,418

01 AXNSGHBLAEES 91,989 ,875 AN 20,886
OEWAEEI AR 91,989
= 85,571
< 6,418

ZUHSSEMNE2YE 60,502 ,547 1,955
2 46,540
< 13,962

308 XXM SOl A 60,502 ,547 1,955
2 46,540
< 13,962

01 IXNHHBMNEES 60,502 ,547 1,955
DS SEMNE2E 60,502
= 46,540
< 13,962

SOHEZ TN AL 296,400 510 A 32,110
= 228,000
< 68,400

403 A X EHHS =0l A 296,400 510 232,110
2 228,000
= 68,400

01 X EHHA=LE L 296,400 510 A 32,110
OsHEZ O FEINEALES 296,400
228,000




A YEEE: SN Zope =R B
Hy: H=XEA
CHol: FOJQI M E OHE K| CER-ED
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
ZOHAUAMHAIZLA0EZXA 81,699 87,027 25,328
= 72,391
< 9,308
308 AHAIEHHSOIA 81,699 87,027 25,328
= 72,391
< 9,308
01 AXSHBLEELS 81,699 87,027 25,328
OO A AL A0SR 81,699
= 72,391
< 9,308
O ESKA 23,615,881 21,888,643 1,727,238
= 20,941,595
< 2,674,286
308 XXM SO A 23,615,881 21,888,643 1,727,238
= 20,941,595
< 2,674,286
01 IXNHHBANEES 23,615,881 21,888,643 1,727,238
OFMUESX(HIY) 23,474,286
= 20,800,000
< 2,674,286
O=sdM S8 AHIA 141,595
= 141,595
TOH OIS X K2 A Y 2,193,516 2,046,304 147,212
= 1,687,320
< 506,196
308 X EHSOIA 2,193,516 2,046,304 147,212
= 1,687,320
= 506,196
01 HIXNSHHBNEES 2,193,516 2,046,304 147,212
X0 S XL Atel AL 2,193,516
= 1,687,320
< 506, 196
ZOHQI LB LRl ALY 3,765,353 3,789,200 A 23,847
= 2,896,425
< 868,928
308 XXIEHHSOIA 3,765,353 3,789,200 A 23,847
= 2,896,425
< 868,928
01 AXHHBILEES 3,765,353 3,789,200 A 23,847
O Lot dXtel X3 AY 3,765,353
= 2,896,425
= 868,928
Al 2 OF Q1 OF O AFIIF 24 A4 370,385 368,837 1,548
= 344,544
< 25,841




M ox
40 5 4

SxAL= SA RO
VIR DI
HOj QM B oHE | &

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 370,385 368,837 1,548
= 344,544
< 25,841
01 HIXNHHBHNEELES 370,385 368,837 1,548
CITAI 2L 200 QI OFDFAFIIF A AFS 370,385
2 344,544
< 25,841
ExSUMASHOMHA AT SHI X 41,000 41,000 0
308 XXM SO A 41,000 41,000 0
01 AXHHBISEES 41,000 41,000 0
St MASHOMQ 24 SHI X2 41,000
ZHL DB SHSISLUINEL S 11,607 9,851 1,756
101 @124l 11,607 9,851 1,756
04 D12t Z22HEE = 11,607 9,851 1,756
O DEE2SHS S0 ESL Gl AH] 11,607
Do EBSE XA (XHA) 225,000 279,000 A54,000
307 gl2tol & 15,000 15,000 0
05 Rzt & = 15,000 15,000 0
OXHESEIMUIATZRAE =S 15,000
308 XXM SO0 A 210,000 264,000 A54,000
01 IXNHHBNEES 210,000 264,000 254,000
O ESEZAMEIAXNEA 210,000
LI LAES AL Nt At 70,350 0 70,350
= 54,115
< 16,235
308 XX EHH SOl A 70,350 0 70,350
= 54,115
< 16,235
01 AXHHILEES 70,350 0 70,350
OYSHHUSLAESAIE LRI AL 70,350
= 54,115
< 16,235
Zof ol = X K& =T 9,464,282 9,148,165 316,117
= 5,397,472
< 4,066,810
ZOUHAHASEHINAIE2S 148,438 198,125 A49,687
= 59,375
< 89,063
307 gl2tol & 148,438 148,125 313
= 59,375
< 89,063
11T M SXAISE EX 148,438 148,125 313




M ox
40 5 4

CeEfHA= S EOHQ

o -

D HM=EXSE
DA X

|

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

OO MAIZSEHIHAIER2H 148,438
= 59,375
= 89,063

HAEHMW DS XAS 40,500 45,000 A4 500
= 32,400
= 8,100

307 2I2t0| & 40,500 45,000 A 4,500
= 32,400
& 8,100

11T A EXAIEEX 40,500 45,000 A4 500
CJHAEEOHA WA A 40,500
= 32,400
& 8,100

SSHMANYMB(IL)SYN 174,000 174,000 0
2 120,000
& 54,000

308 AKXl €I S 0 & 174,000 174,000 0
= 120,000
o= 54,000

01 AIXSHMENEXZ 174,000 174,000 0
O=ZEZSXHQINEME(IL)2EXH 174,000
= 120,000
= 54,000

HOHOISHER 2 4,763,446 4,498,486 264,960
= 4,220,775
& 542,671

308 XHXIGH SO0l & 4,763,446 4,498,486 264,960
= 4,220,775
& 542,671

01 AIKSHHEMNEXZ 4,763,446 4,498,486 264,960
OIS THEX 2 4,763,446
= 4,220,775
o= 542,671

ZOHOIIZE XX 746,937 646, 160 100,777
= 522,856
= 224,081

308 MXISHMSOIA 746,937 646, 160 100,777
= 522,856
& 224,081

01 IXHHIMNEXTZ 746,937 646, 160 100,777
OO ZELEX A 746,937
= 522,856
= 224,081

AHEE XA 148,362 148,407 N45
= 131,460
o= 16,902




M ox
40 5 4

= FA e
L H=NEA
IS P

|

= _ - 4 &
SERE L RE-ERY=E1C PRy EVE-RE-EL 0f o e HI D52
308 XXM SO0IH 148,362 148,407 N45
=2 131,460
CS 16,902
01 XM BadE2ES 148,362 148,407 A45
OANELHEHREI2XNEHAALE XA 148,362
2 131,460
S 16,902
ANEZHAXNZHAEH2S 220,000 220,000 0
308 XXM SO0l & 220,000 220,000 0
01 UAXNESHHBLEXS 220,000 220,000 0
OXAHIHAXNAHEHSZ S 220,000
ZOHATHEXRAHZ2SE 27,000 27,000 0
308 XXM SO0IH 27,000 27,000 0
01 UIXSHHBLEES 27,000 27,000 0
O Hezdde=2s 27,000
O =S KIX & AHS 570,880 747,975 A177,095
308 XXM SO0I™ 570,880 747,975 A177,095
01 XM BEEES 570,880 747,975 A177,095
Os0ll EE2E 223 AHY 9,000
OANZnSADSEHNHZEH0ISK A 190,000
OnsSdAE 23 A 20,000
OANZH=ZHATHEXN2LHEH2E 72,000
COEO0H IS At 22l AL 99,000
OMGtEHABRHE2E=R012E 70,300
OuZEssadead=d 45,000
OANZHEHFHAIALSE L0 SXNEHEHEZ S
A& 23,580
OAZaXMEHAHELdS A2 42,000
OB A S EOHAIE X 154,000 154,000 0
308 At XI &M SO0l & 154,000 154,000 0
01 XM BAEES 154,000 154,000 0
CZO0Holl AZ EHOHAIZ X & 54,000
OZOHQIMAZTHIAILSX R (2E) 100,000
ZOHABAAILEE XX A 628,150 708,300 A 80,150
307 glztol & 237,150 244,900 AT,750
M ASIMNSEX 237,150 244,900 AT,750
OZAHAANE S H2SE 87,150
OZXMEHABAANLHEHZSE 150,000
308 X+l &M S 01 A 391,000 463,400 AT2,400
01 HAHHZBEEES 391,000 463,400 AT2,400
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44,319

44,319

431,500
401,500
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190,000

261,500

H3r
Wikd
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5,000
142,579

142,579

142,579

80, 162

80, 162

80, 152

1,726,550
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1,367,550

0l &t o
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5,000
142,579
126,336
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H
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H
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40 5 4

NEEE
MAYB
[o:] =13
o o

Sl HAH =
o2

|
el At

- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2

OFLEET22ZAd= )21 16,107
= 12,390
= 3,717

S HEE S22 ALY 23,530 29,900 AN6,370
J| 18,100
= 5,430

308 XHXIGHH SO0l & 23,530 29,900 N6,370
J| 18,100
& 5,430

01 HXHHIMNEXZ 23,530 29,900 AN6,370
O2EHE S0 2 At 23,530
J| 18,100
& 5,430

HEtES 2 AL 18,920,005 8,037,456 10,882,549
Dl 14,615,229
& 4,304,776

101 e1214| 12,204 12,204 0
J| 6,102
o= 6,102

02 JIEH& &2 %= 12,204 12,204 0
O ESZOI MBS ST A2 E S A H| 12,204
J| 6,102
= 6,102

308 XHXI &M SOl ™ 18,907,801 8,025,252 10,882,549
J| 14,609,127
& 4,298,674

01 AIKISHHENEXZ 18,907,801 8,025,252 10,882,549
OWLEEsEMEHSE 280,215
Dl 280,215
OB 2tE A2 H ol & 57,294
J| 44 072
& 13,222
Ol ol ESIH 12,519,663
J| 9,630,510
o=t 2,889,153
OEoledsIA 5,889,936
J| 4,530,720
& 1,359,216
ODNREZHEESIE 160,693
J| 123,610
= 37,083

MEHAHOSZAIMAZE 25,920 25,520 400
J| 12,960
=} 12,960

201 et 9| 2,160 1,760 400
J| 1,080
& 1,080




M ox
40 5 4

HAH 7=

o |
CEggogae g

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

01 At 22l 2,160 1,760 400
Oget==&H| 2,160
OMEHAUS LSEHAXNE S 2,160
J| 1,080
< 1,080

308 XAHAIEHSOIA 23,760 23,760 0
J| 11,880
< 11,880

01 HIXNHHNBMNEES 23,760 23,760 0
OMSH A SZAIMA2SHI 23,760
J| 11,880
< 11,880

o REUIHELAINZXA 98,550 98,550 0
J| 98,550

308 XXM SOl A 98,550 98,550 0
J| 98,550

01 AXHHBILEES 98,550 98,550 0
oz E 22 A I 2X& 98,550
J| 98,550

SMELFEENA LS SR 96,000 96,000 0
J| 96,000

308 XXIEHHSOIA 96,000 96,000 0
J| 96,000

01 X HHILEES 96,000 96,000 0
RIsZgdasitAcigdass]I 96,000
J| 96,000

St OITI| o At 24 11| off Xt 24 &+ X| & 1,404,000 1,621,800 A 217,800
= 1,404,000

308 A EHHSOIA 1,404,000 1,621,800 A 217,800
= 1,404,000

01 HIXNHHNBHNEES 1,404,000 1,621,800 A 217,800
18t el o1 Ti| o Ak 1] off Xt 24 & X| & 1,404,000
= 1,404,000

HL ST AY 24,708,686 22,366, 133 2,342,553
=2 364,110
J| 18,100,766
< 6,243,810

HLSEALE =& 26,000 236,000 A 210,000

201 L4l 6,000 6,000 0

01 At 22l 6,000 6,000 0
Oger==&H| 4,000
OUZLSIAMNL2HAMTS R 4,000
O2d=¢ 2,000




A=
HE: BMALBRAMAN TS
ool ASBIAY cHol @)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES %Eﬁ HR=2
OAHLS AL 2 =20 H 2,000
202 04d| 15,000 10,500 4,500
01 2L HI 15,000 10,500 4,500
[(JHLASTAL A2 =X 15,000
203 R F & 5,000 5,000 0]
03 AlZH =& 2= X H| 5,000 5,000 0
OALSHA MY 2= 5,000
KNS AS 244 = AL 754,333 767,768 N 13,435
J| 580,256
& 174,077
308 XX EHSOIA 754,333 767,768 N 13,435
J| 580,256
&< 174,077
01 AIKSHHEMNEX= 754,333 767,768 N 13,435
XA 242 XA 754,333
J| 580,256
= 174,077
KIS AS H 2 R AALS 15,000 12,000 3,000
307 QI2t0| & 15,000 12,000 3,000
05 QIZtRES 15,000 12,000 3,000
OFASEXNSAMIAHLYTAISHE L2t 15,000
gt A2l Alg 51,000 51,000 0
308 XX SHHSOIH 51,000 51,000 0]
01 AIXSHMEMNEX= 51,000 51,000 0
JeeaAd e A 51,000
Ot & XF 2t el 140,064 140,064 0
J| 107,740
&< 32,324
308 AHXIEHMSOIA 140,064 140,064 0
J| 107,740
== 32,324
01 AIXSHHEMNEX= 140,064 140,064 0
ORHOF & X2t 2] 140,064
J| 107,740
o=} 32,324
SO ZD|EEALS ;020,443 999,700 20,743
J| 784,956
& 235,487
308 XAXIGHHM SO0l & ,020,443 999,700 20,743
J| 784,956
= 235,487
01 IXHHIMNEXS 1,020,443 999,700 20,743




A=
M BHALZAMATRS
S9l: AYSTAY (B9 ®R)
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
CI5H L =01 3 & ALY 1,020,443
J| 784,956
< 235,487
QeI 2 5| K& A 1,471,245 1,821,111 A 349,866
J| 1,131,727
= 339,518
308 XXM SOIA 1,471,245 1,821,111 A 349,866
J| 1,131,727
< 339,518
01 IXNHHBANEES 1,471,245 1,821,111 A 349,866
et te 28I X & A 1,471,245
J| 1,131,727
< 339,518
HAZE=EXNGBHEH2Y 100,000 100,000 0
J| 40,000
< 60,000
307 21201 A 100,000 100,000 0
J| 40,000
< 60,000
02 It S AIHE L 100,000 100,000 0
O Z=ESHEH2E X2 100,000
J| 40,000
< 60,000
SR LE SRS S H A 1,825,387 2,238,392 A 413,005
J| 1,404,144
= 421,243
308 XXM SO0 A 1,825,387 2,238,392 A 413,005
Il 1,404,144
S 421,243
01 IXNHHBHNEES 1,825,387 2,238,392 A 413,005
O8I E & X2 S H X 1,825,387
J| 1,404,144
< 421,243
AL E2AETEM Y2 1,511,241 1,265,794 245,447
J| 1,143,878
< 367,363
307 21201 A 100,000 200,000 100,000
J| 50,000
< 50,000
02 QIAHFAAHFEX 100,000 200,000 2100, 000
Do g2detog2e 2 XX S M A 100,000
Jl| 50,000
< 50,000
308 XX EHSOIA 1,411,241 1,065,794 345,447
J| 1,093,878
< 317,363




o= ANAZ= M BAFH
B BAALMATS
Sl ASBHAY (el @2)
SN -FH-SA(BA) - HRAY - B 0l &t o8 il HlnE2
01 AXSHHBLEES 1,411,241 1,065,794 345,447
Oo2gagALNESdd HS S ALY 1,375,241
| 1,057,878
< 317,363
Dot gdsugensiE 36,000
| 36,000
e ESH A 30,000 30,000 0
308 XXl EHH SOl A 30,000 30,000 0
01 HXNHHNBHEES 30,000 30,000 0
OY=edSuTASTH 30,000
AL (S XEHAIY) 678,572 1,352,498 AB73,926
| 521,978
< 156,594
308 XXM S0 A 678,572 1,352,498 A673,926
| 521,978
< 156,594
01 AXSHHBLEES 678,572 1,352,498 AB73,926
OLoaAdELILEZEL 619,926
J| 476,866
< 143,060
OoXIE2&E A= 2tel i 58,646
| 45,112
< 13,534
MO E I A2 A AL 81,073 75,252 5,821
| 81,073
308 XXM S0 A 81,073 75,252 5,821
| 81,073
01 AXNSGHBLAEES 81,073 75,252 5,821
(MO M &0 A2 &I EF 81,073
| 81,073
HLEROIL B ALY 105,000 105,000 0
308 XXM S0l A 105,000 105,000 0
01 IXNHHBNEES 105,000 105,000 0
JRcIOtSHZLMEUHNASAHZ S 78,000
Odg B &AL 27,000
S80S NLEHA T AT ALY 364,110 364,110 0
= 364,110
201 LB-2E| 59,840 59,840 0
= 59,840
01 At 2t 2l 59,840 59,840 0
D42yl 59,840
OB+ BANALATAY LS 42 59,840
= 59,840




Paa

A= SNH2d= = AE
HE: BMALBRAMAN TS
ool ASBIAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 304,270 304,270 0
= 304,270
01 HIXNHHBHEELS 304,270 304,270 0
OS2 NA LS A 304,270
= 304,270
NEAS SEAZSEAY 15,821,218 12,106,944 3,714,274
J| 12,105,014
=) 3,716,204
201 Let24E] 50,000 4,500 45,500
J| 25,000
< 25,000
03 &Ar2 I 50,000 0 50,000
OEpA2e0HE 50,000
J| 25,000
< 25,000
307 21201 A 192,000 111,500 80,500
J| 96,000
= 96,000
02 IS AHE L 192,000 111,500 80,500
OAZSIMNSRNAL2 S 192,000
J| 96,000
= 96,000
308 XXM SO0 A 15,579,218 11,990,944 3,588,274
J| 11,984,014
=) 3,595,204
01 IXNHHMBNEES 15,579,218 11,990,944 3,588,274
OXNSAM SSEALSEAS 12,219,858
J| 9,399,891
< 2,819,967
OXNSEMSASAR B AAS 3,298,130
J| 2,537,023
< 761,107
O30 29 XA 61,230
J| 47,100
< 14,130
AZMOSZ=E A 300,000 240,000 60,000
308 XXIEHHSOIA 300,000 240,000 60,000
01 X HHILEES 300,000 240,000 60,000
OAZMOtSEE ALY 300,000
HUSEXESALXTH & 14,000 14,000 0
307 21201 A 14,000 14,000 0
04 DIZHHALALSE 2 X 14,000 14,000 0
OALSI TN SAXNUE XA 14,000
OETAANNSHBHH 400,000 400,000 0
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a=: o= 2 5 2fs
B BAALMATS
Hel: FAALBSIAY (&)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jl 200,000
< 60,000
S SENJIHUH2 I 183,365 175,630 7,735
J| 141,050
< 42,315
308 A EHSOIA 183,365 175,630 7,735
J| 141,050
< 42,315
01 HIXNHHNBMNEELS 183,365 175,630 7,735
ODss2elsgidde2d 183,365
J| 141,050
< 42,315
FAUHLSIEH2 1,144,000 936,000 208,000
J| 880,000
< 264,000
308 XXM SOl A 1,144,000 936,000 208,000
J| 880,000
= 264,000
01 AXHHBISEES 1,144,000 936,000 208,000
OFNALSTUEHZSE 1,144,000
J| 880,000
< 264,000
TSR MAUSIAY 214,500 214,500 0
J| 165,000
< 49,500
308 Xt XIEHH SOl A 214,500 214,500 0
J| 165,000
= 49,500
01 HXNHHBHELS 214,500 214,500 0
O ALSTALEY 214,500
J| 165,000
< 49,500
NIEXZRAZUALSIAY 32,000 0 32,000
J| 32,000
307 glz2tol & 32,000 0 32,000
J| 32,000
02 It M AMHEE 32,000 0 32,000
OMISXNSSAIEAUHLSIAY 32,000
J| 32,000
ZHEEZAFZUALSIEHZ I 768,800 0 768,800
J| 384,400
= 384,400
307 21201 A 768,800 0 768,800
J| 384,400
< 384,400




oy

A= SXAL= £ alPSES
HE: BMALBRAMAN TS
Sol: FAALSHAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
02 It M AHE L 768,800 0 768,800
OIS 29FNMALSAME2S 768,800
J| 384,400
< 384,400
JNHAEHEHSY 32,000 32,000 0
201 Let24E] 1,000 1,000 0
01 At 22l 1,000 1,000 0
IR=R-IEs =1l 600
OXNMNASHEH2IEIINI DM SO 600
Oegsg 400
OXMHASHE2SEINUHSIZME 400
303 Z&f 3 6,000 6,000 0
01 243 6,000 6,000 0
OXNHAGHEHZIEIIIHIRFEHATNZ 6,000
308 XXIEHHSOIA 25,000 25,000 0
01 XML EES 25,000 25,000 0
OXMHAGHdH2AEI XS 25,000
XIOH 2t el Abe =& 383,000 257,800 125,200
308 MXIEHMSOIH 383,000 157,800 225,200
01 HXNHHBHELS 383,000 157,800 225,200
OXINE A E2ES K& 83,000
OXHEEH X 300,000
X =52 A 10,000 10,000 0
201 Let24E] 10,000 10,000 0
03 & At2 I 10,000 10,000 0
OXIN 2= L&A 10,000
HEXMHEEH2E XA 255,000 0 255,000
307 2201 A 255,000 0 255,000
02 SIZtE S ALHE L 255,000 0 255,000
OAEXMNEEH2E XA 255,000
X O Xl 2 HI K& AHS 1,219,400 1,372,800 A 153,400
J| 938,000
< 281,400
308 XX EHSOIA 1,219,400 1,372,800 A 153,400
Jl 938,000
< 281,400
01 HIXNHHBNEES 1,219,400 1,372,800 A 153,400
X0 Xl = 2 el dl X & A 1,219,400
J| 938,000
< 281,400




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
JASEZAXMMEH2SH 600,000 600,000 0
J| 420,000
< 180,000
307 gl2tol & 600,000 600,000 0
J| 420,000
< 180,000
02 It HAHE L 600,000 600,000 0
O34 ZAXNMNMEH2E X 600,000
J| 420,000
< 180,000
oD BtAIE =t S Y MHI AN 10,837,490 9,333,290 1,504,200
J| 9,272,563
=) 1,564,927
e HRFA 23,000 25,500 A2,500
201 L4l 8,000 8,000 0
01 At 22l 8,000 8,000 0
Oger==&H| 6,000
Ooz el At 2HA I =l 6,000
Oo2g+¢ 2,000
SNEEENEEEEES-FN-1= 2,000
202 O4dl 15,000 17,500 A 2,500
01 = LH 4 Hi 15,000 17,500 A 2,500
OdozelAEER2F=A 15,000
ORI H 28Xt el 2 B KT & 75,000 75,000 0
308 XXM SO0 A 75,000 75,000 0
01 HIXNHHNBNEES 75,000 75,000 0
OO OH& H 8 X2l 2 HI X & 75,000
ANAHHA XSS SAXLHOIAI=AE KR 52,000 45,000 7,000
307 21201 A 52,000 45,000 7,000
02 QIAHFAAHEX 52,000 45,000 7,000
OAZEMWLHAES X 32,000
OMASSOAI=X & 20,000
=2 FEMH2Z I 184,400 166,000 18,400
J| 92,200
< 92,200
307 glz2tol & 184,400 166,000 18,400
J| 92,200
< 92,200
02 QIZtE M AHEE 184,400 166,000 18,400
S22z E8dH2IXNA 184,400
J| 92,200
< 92,200




A= SXAL= = Al
M BMALBAMATE
SR ADBAIE SR AMEIANS (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SsEdslANILdEIzIH2H 2,131,000 2,086,000 45,000
J| 2,131,000
307 gl2tol & 2,131,000 2,086,000 45,000
J| 2,131,000
02 IZHE M AHE L 2,131,000 2,086,000 45,000
O228d@)H4NJLd T2 IH2A 2,131,000
J| 2,131,000
AHAM=SSESHI NS 154,000 88,000 66,000
J| 77,000
< 77,000
307 glz2+ol & 154,000 88,000 66,000
J| 77,000
< 77,000
05 RIZt2E = 154,000 0 154,000
OdHAM=SESSHXNSXE 164,000
J| 77,000
< 77,000
O=S=2dsANLAE2IXA 35,000 35,000 0
307 21201 A 35,000 35,000 0
02 QB AAHEX 35,000 35,000 0
OolssssdxNssaned2d N 25,000
O0=sS22d=MEZH 2l X & 10,000
FHAXNAXNAES2 2= 4,425,000 3,423,000 1,002,000
J| 4,425,000
308 XXM SO A 4,425,000 3,423,000 1,002,000
J| 4,425,000
01 X HHILEES 4,425,000 3,423,000 1,002,000
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